00000
ROODODOODOOOOOO
(5) 0ODOO0ODO0O0 (I)

1ec20021107 OO OO0 shimo@is.titech.ac.jp



HRERERE




oo oooboooddtd

(random variable, distribution function, density function)

e I0DDDODXODOODOODO
000000 Fy(z) =Pr{X <z}

dF
000000 fy(z) = —=X
dx

o I AODODDO O

Pr{X € A} = |, fx(2)de = [ I4(2)fx(z)da

e 100 A= (—00,a]00
Pr{X e A} = /_“OO fx(z) de = Fy(a)



0000 (uinform distribution)

e 00 (a,6)00000: U(a,bd)

(

=

)=y a<zxz <D
L) =
Ix (@) 0] r<a,OFr x>b
0 r<a
Fx(z) =(7—, a<zxz<b
1 x>b

Histogram of v Histogram of v2




### 0000

help(dunif)

x <- seq(-0.5,1.5,1ength=300)
plot(x,dunif (x),type="1")
plot (x,punif (x),type="1")
v <- runif (1000)
hist(v,nclass=10)

abline (h=100)

v2 <- runif (10000)
hist(v2,nclass=10)

abline (h=1000)
sum(v<=0.1) / length(v)
[1] 0.091

> sum(v2<=0.1) / length(v2)
[1] 0.0998

VvV V V V V V VvV VvV V V V V



0000 (normal distribution)

e J0de0OOBOOOOO: N(a,b)
2
fx(x) = " exp (—CC %) )

V2 2b
Fx(z) = [*_fx(s)ds

Histogram of v




### 0000

help(dnorm)

x <- seq(-3.5,3.5,1ength=300)
plot (x,dnorm(x) ,type="1")
plot (x,pnorm(x) ,type="1")

v <- rnorm(1000)
hist(v,nclass=20)

v2 <- rnorm(10000)
hist(v2,nclass=20)
lines(x,dnorm(x)*0.5%10000)
sum(v<=-2) / length(v)

[1] 0.017

> sum(v2<=-2) / length(v2)
[1] 0.0237

> pnorm(-2)

[1] 0.02275013

vV V V V V V V V V V V



00000 (gamma distribution)

e shape alscale sOOOOOO: Ga(a,s)
1 a—1
fx(z) = <x> exp <—§> , x>0

S

sl (a)

S

M(a) = /OOO 2% L exp(—z) dx

(n) =(n—1)!

Histogram of v2
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> ### 0000y

> help(dgamma)

> x <- seq(0,10,1length=300)

> gamma (3)

[1] 2

plot (x,dgamma(x,3) ,type="1")
plot (x,pgamma(x,3) ,type="1")
v <- rgamma(1000,3)
hist(v,nclass=20)

v2 <- rgamma(10000,3)
hist(v2,nclass=20)
lines(x,dgamma(x,3)*0.5%10000)
sum(v>7) / length(v)

[1] 0.035

> sum(v2>7) / length(v2)

[1] 0.029

> 1-pgamma(7,3)

[1] 0.02963616

vV V V VvV V V V V



000000 shaped 000 (s = 1)

a=1

o 1L DOOUD

F(X) = /OooazfX(:c)d:c = as

o [|[]
V(X) = | (&= B(X))*fx(z) dv = as®



## 00 0000 shape OO 0O OO O

x <- seq(0,20,length=500)

plot (x,dgamma(x,1) ,type="1"); abline(v=1,1ty=3)
plot(x,dgamma(x,2) ,type="1"); abline(v=2,1ty=3)
plot(x,dgamma(x,5) ,type="1"); abline(v=5,1ty=3)
plot (x,dgamma(x,10) ,type="1"); abline(v=10,1ty=3)
v <- rgamma(100000,1); c(mean(v),var(v))

[1] 1.001625 1.011608

> v <- rgamma(100000,2); c(mean(v),var(v))

[1] 2.004979 2.012081

> v <- rgamma(100000,5); c(mean(v),var(v))

[1] 5.000123 5.007556

> v <- rgamma(100000,10); c(mean(v),var(v))

[1] 10.00437 10.08082

vV V V V V V V



000000 (chi-squared distribution)

e 00 (degrees of freedom)d n x200: x2

1 2\n/2—-1 T
fx(z) = S (n/2) <§> exp (—§> . x>0
OO0 n0O0O0 O
r(n/Q):(n_Q)”ﬁ (n—2)"=n-2)(n—-4)---

2(n—-1)/2 7
rG)=vm TG)=3/r,TQ3)=32Vr
o L LU OOOODODOOOONO

Ga(n/2,2)00 0 shape:a =n/2, scale:s =2000000

o [ nUUUOUODUUOUOUOOOODUOOOODODOUOOOOOD OO DO U
Joodotubobodtdtddon



Jgoddobobobbtiod

Z1,%5,...,%Zn ~N(0,1) i.i.d.
X=2{4+25+ -+ 22

2
X ~ X5




VvV V V V

## 0000000000000

n <- 1; x <- matrix(rnorm(10000%*n) ,n) ;

y <- apply(x,2,function(v) sum(v*v)); xx <- seq(0O,max(y),length=300)
hist(y,prob=T,nclass=30); lines(xx,dchisq(xx,n))

n <- 2; x <- matrix(rnorm(10000%*n) ,n) ;
y <- apply(x,2,function(v) sum(v*v)); xx <- seq(O,max(y),length=300)
hist(y,prob=T,nclass=30); lines(xx,dchisq(xx,n))

n <- 5; x <- matrix(rnorm(10000%*n) ,n) ;
y <- apply(x,2,function(v) sum(v*v)); xx <- seq(0O,max(y),length=300)
hist(y,prob=T,nclass=30); lines(xx,dchisq(xx,n))

n <- 10; x <- matrix(rnorm(10000*n) ,n);
y <- apply(x,2,function(v) sum(v*v)); xx <- seq(0O,max(y),length=300)
hist(y,prob=T,nclass=30); lines(xx,dchisq(xx,n))



HRERERERERERERE

ZiNN(CLi,].), i:1,...,n (DD)
X=2Z{4+25+ -+ 22

X ~xn(8), d=ai+-- +a;

Histogram of x Histogram of x

n
-
o
b=l
o
o
o
EN
s
o
H_
z z 2 3
5 2 3 :
a a8 ° a
n
o
S} 0
o 8._
o 5]
o
o
3 8 S
T T T T T T 1 T T T T 1 T T
0 10 15 25 30 0 20 30 40

n=50=0 n=50=25 n=>5,0=125
(a; = 0) (a; = 1) (a; =5) 10




VvV V V V

### OO0 00000
n <- 5; a <- 0; z<- matrix(rnorm(10000*n)+a,n)
x<- apply(z,2,function(v) sum(v*v)); zz <- seq(0,max(x),length=300)

hist(x,prob=T,nclass=30); lines(zz,dchisq(zz,n,ncp=n*a~2))

>n <- 5; a <- 1; z<- matrix(rnorm(10000*n)+a,n)

> x<- apply(z,2,function(v) sum(v*v)); zz <- seq(0,max(x),length=300)

> hist(x,prob=T,nclass=30); lines(zz,dchisq(zz,n,ncp=n*a~2))

>n <- 5; a <- 5; z<- matrix(rnorm(10000*n)+a,n)

> x<- apply(z,2,function(v) sum(v*v)); zz <- seq(0,max(x),length=300)

> hist(x,prob=T,nclass=30); lines(zz,dchisq(zz,n,ncp=n*a~2))



000 (reproductivity)

e X7 ~N(a1,b1),Xo~ N(ap,bp); (DOOODO)
X1 4+ Xo ~ N(ay +ap,by + b2)

o X1 ~Gal(lay,s),Xo ~Galap,s); (OO ODO)
X1+ Xo ~ Ga(a + ap, s)

¢ X1~ Xn X2~ Xay (00000)

X1+X2NX72L1—|—n2
oottt bobond

(Zf_|_..._|_zgl)-|-(Zgl+1+...ZT2Ll+n2 — 724 ...

Jopddoooboodotddbo oot

2
+ an-l-nz

11



FOO

2 2
X1~ Xnyy X2~ Xp, OO0

v X1/m
Xo/no
0000YOOOO (ny,no)0 FOOOOOM
B 1 iy ni/2 ny —(n1+n2)/2 ni/2-1
WO = e () (0 ) ’
_ T(a)r(b)
Bla.b) =

> nl <- 1; n2 <- 10; x1 <- rchisq(10000,n1); x2 <- rchisq(10000,n2)

>y <= (x1/n1)/(x2/n2) ; yy <- seq(0,max(y),length=300)
12



hist(y,prob=T,breaks=100); lines(yy,df(yy,nl,n2))

nl <- 5; n2 <- 10; x1 <- rchisq(10000,n1); x2 <- rchisq(10000,n2)
y <= (x1/n1)/(x2/n2) ; yy <- seq(0,max(y),length=300)
hist(y,prob=T,breaks=100); lines(yy,df(yy,nl,n2))

nl <- 10; n2 <- 10; x1 <- rchisq(10000,n1); x2 <- rchisq(10000,n2)
y <= (x1/n1)/(x2/n2) ; yy <- seq(0,max(y),length=300)
hist(y,prob=T,breaks=100); lines(yy,df(yy,nl1,n2))

nl <- 1; n2 <- 50; x1 <- rchisq(10000,n1); x2 <- rchisq(10000,n2)
y <= (x1/n1)/(x2/n2) ; yy <- seq(0,max(y),length=300)
hist(y,prob=T,breaks=100); lines(yy,df(yy,nl1,n2))

nl <- 5; n2 <- 50; x1 <- rchisq(10000,n1); x2 <- rchisq(10000,n2)
y <- (x1/n1)/(x2/n2) ; yy <- seq(0,max(y),length=300)
hist(y,prob=T,breaks=100); lines(yy,df(yy,nl,n2))

nl <- 10; n2 <- 50; x1 <- rchisq(10000,n1); x2 <- rchisq(10000,n2)
y <- (x1/n1)/(x2/n2) ; yy <- seq(0,max(y),length=300)
hist(y,prob=T,breaks=100); lines(yy,df(yy,nl1,n2))



Density
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Histogram of y
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Z ~N(0,1), X~x> 00000

Jo0o0yYoOoionOtoodoong
r(ngl) 2 —(n+1)/2
1+7)
\/wnr(g)<
00Y20000(1,»)0 FOOOOOO

fy(y) =

n

> ### tU U

>n <- 5; z <~ rnorm(10000); x <- rchisq(10000,n); y <- z/sqrt(x/n)

> yy <- seq(min(y) ,max(y),length=300)

> hist(y,prob=T,nclass=50);lines(yy,dt(yy,n));lines(yy,dnorm(yy),col=2)

14



> n <- 10; z <- rnorm(10000); x <- rchisq(10000,n); y <- z/sqrt(x/mn)
> yy <- seq(min(y) ,max(y),length=300)
> hist(y,prob=T,nclass=50) ;1lines(yy,dt(yy,n));lines(yy,dnorm(yy),col=2)

> n <- 30; z <- rnorm(10000); x <- rchisq(10000,n); y <- z/sqrt(x/mn)
> yy <- seq(min(y) ,max(y),length=300)
> hist(y,prob=T,nclass=50) ;1lines(yy,dt(yy,n));lines(yy,dnorm(yy),col=2)

Histogram of y Histogram of y Histogram of y




0000 ()
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HREREREEN

o (1L LDOMNOMNO
yi = Bo + B1xi1 + Poxio + -+ - + BpTip + €;
€1,... ,en ~ N(0,0°) i.i.d.
c.f. COV(Ei,ej) =0 for 1 =

o [/ L0 OOO
y:XIB_l_E, ENNn(O,O'QIn)

o I UUOOODODOO OO O
607617“° 76]?70-2

i=1,...

, T

16



HRERERERERERE

e z{,..., tn ~N(0,62)0 0000000
fn(x) = f(x1) - f(zn)
1 n 3322
- \/(27702)” =P _z';l 202]

e OO D OO0 DOXOOOODOOOO

ol p, B) = 2m) 22|72 exp [-3(z - p)'E 7z — p)]
anDDZ:(Uij)DDDO‘ijD x; CIZjDDDD

e x1,...,tn~ N(0,02)0 0000000

17



HRERERRERREEN
B=(X'X)"'X'y
= (X'X)"'X'(XB+e)
=B+ (X'X) ' X'e
000 (D00)d0ooDoOO0o00ooooooooooobooooooogd
E(B) =B+ (X'X) 'X'E(e) =8

V(B)=E((B-B)B-8))
= B [{(X'X) 7 X'e} {(X'X) "1 X'e}|
= (X'X)" 1 X'B(ee ) X (X'X) !
— O_Q(X/X)—l

B ~ Np(B,0%(X'X) 1)

18



QROOOOOOOO

X = QR

Q=I[qp,---,q,]0nx(p+1)0000000000 qptq,---

0000 Q" =[gpt1,---,9,—1]000
Q — [QaQJ_] — [q07'°° 7qn—1]7 Q/Q — In

QQ + Q@Y =1,

X(X'X)"'X'y=QQy =704q0+ - + pa,

Nad)
|

®
|

Yi=qy, i=1,...,n

y—9==Un-QQ)y=QQ "y =7,11q,11+

7qn—1D

19



QROODOOOOOOOO

Yi=qy=q(XB+e)=n+dle, €~ Ny0,0%I,)

Zgzzrljﬁj Z:O, s P

- —ad' X8 =d0OR3 =
Vi q; g q@Q 6/ {O i=p+1.. . .m

E(;) = v
~ o~ N\ __ ~ ~ — / _ 2
cov(3i,9;) = E{(Fi =) (Fj — )} = @;E {e€€'} q; = 076y

;5/ ~ Nn(%UzIn)
000 (k)

20



QROOOOOOO
e 0I0ODO (p)
9 ="0d0+ -+ Ty

e 000 (k)
Q") =qq,... ,q;l

70|
YW =Wy =1+, 5 =dy

|VE

5 = QQWIy = QWM = 500+ - 4 7,q,

et =y — g™ = (1, - QWQWy = 3,1 1q441 + - + Fna,,

e 000 (0)
yln = Y040 21



00000 (residual sum of squares)

e 000 (k)
RSSH) = ||e®)|2 =32, ; + - + 72
00000 (A)000000 ygqq ==y, = 0000
RSSW /o2 ~x2 4

[

0000000, v7/e?000000000

e 00000 (UOO(p)OOOOOODNON)
E(RSS(p)) =o?(n—p—1)
L O OO [
5 RSS®)

o =

n—p—1

22



000 (k)0O0OO

RrRSS®) — rss®)  AZ 4 +A2
— 0_2 ~ Xp—k(é)

o2

Rt

0 2

O

RSS® A2, 4 +77
2 2 ~ Xn—p—1

o
O0DO000(k)DO0D000oogoé=0000

(RSSK) — RSS()Y /(p — k)
F = () ~ p—kn—p-—1
RSS\P)/(n—p—1)
OO0 6 >0000 FOOOUODOODUOOOOUOUOLO  FOOOUOOOOO
000 (p-value) =Pr{X >F}, X~F, pn, p 1

o)

O0D00doooooo (%) 000000 oooooooood
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000 ((0)0oo
FOOOO
(RSSO — RSS(P)) /p
- RSS®) /(n—p—1)
_ it A+ n-p-1
Ypp1 T+ A3 P
R? n—p—1
:1—R2X P
DDDRQDDDD(p)DDDDDDDDDDDDDDDDDD

=2 =2
R2 _ fyl —— e o o e—f /yp
Qi e e

00000000 ()0000000 FODDO0OODO0O (p,n—p—1)0F
0o0ooog
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JUUX, ybdooguooo O

f <- mylsfit(X,y) # 00O0OO

r2 <- cor(y,f$pred)"2 # OO OOON

fs <- (r2/(1-r2)) * (nrow(X)-ncol(X)-1)/ncol(X) # FU OO
pv <- pf(fs,ncol(X) ,nrow(X)-ncol(X)-1,lower=F) # 0[]

0000 r2, fs, pvl f$fsummaryl U OO OO0 OO O O



000 (p—1)000

_ (rRSSw—1) — RssP)y A2 2

RSS®W) /(n —p—1) 52
HRERE
6} ~ R
t=—"—  dp=rppBp
o /|rppl

e 100000D0DO (p—1)0000D0OO0FOO0OO0DDDO(L,n—p—1)
0 FO0000000t0000000n—p—10¢t00000000
1000000000 3,0000000000

e 100000 DOOONODONONONODNOOOOOB,...,B00000
100000000000 (X’X)~"l000000000e«00000
rop==41/y/a0000000

25



JUUX, ybdooguooo O

X1 <- cbind(1,X) # DO UUOOOOOO

a <- diag(solve(t(X1) %x% X1)) # UUU00O0O0OO0ODOO al
1/sqrt(a) # U0 OO0 0OO0O0RODOOOOOOOO0OOOOOOOOOO
qr.R(qr(X1)) # RO O

f <- mylsfit(X,y) # 00O0OO

s2 <- sum(f$resid~2)/(nrow(X)-ncol(X)-1) # OO O OOOO

ts <- f$coef/sqrt(s2*%a) # O OOOOOO t0OON

pv <- pt(abs(ts) ,nrow(X)-ncol(X)-1,lower=F)*2 # [0 [

000 +ts, pvld £$tsummary U OO OO0 OO OO



o

1. 000 oooboooooooooboobooooooooboodgg
OO0000 O 1000000000000 2x 100000 00000000

_ |10 s_ |1 05
H="120]|" — |05 2
J000 D000000Y =R ROz~ Ny(0,I5)00x=Rz+p
0Ooooo

2. oo tdy = x1 + z200000000
hist(y,prob=T) U0 000000000 yO0O00O0OO0OOOONOMO
Jodoboouobobo

3. JdddooodobodooodouoobooooooooouoDog
Juobotdobobobobooddbouobobobobotdotddbooduun
Jodoodoobotd
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4. 000000D0O0OO (z,y),i=1,...,n000000000000
N000000000000000000000000000000000
0000000000000

n<-30 #UUUU n =30

x <- runif(n,min=-3,max=3) # x ~ U(-3,3)0n000

y <- 3+ 2xx +x"2 # JUUH y=3 + 2x + x72 [JUOQ
y <- y + rnorm(n,mean=0,sd=1) # OO N, DDIDODN

5. DDDDDDDDDDDDDDRQDDDDDID]DDD(O)DDDDD
o000 FrFO0000000000000 £$fsummaryl] U000 O

6. JUUD0O0OO0OOUOOUouobooooooooouootonon
ooubooobudbd £f$tsummaryld U 00 U O



